
Item No. Photo 中文品名 Description

032207 CNC 3 槳旋翼頭(for X3) CNC 3 Blades Rotor Head(for X3)

032208 3槳橫軸包(for X3) 3 Blades Rotor Spindle Shafts Pack(for X3)

032209 CNC 3槳十字盤(for X3) CNC 3 Blades Swashplate Set Red anodized(for X3)

032601 CNC 3槳主旋翼總成(for X3) CNC 3 Blade Rotor Head Ass'y(for X3)

032602 CNC 3槳主旋翼改裝套件(for X3) CNC 3 Blades Rotor Head Upgrade Kit(for X3)

031201 CNC 主旋翼頭(for X3) CNC Rotor Head(for X3)

031202 主旋翼夾頭(for X3) Main Blade Grip(for X3)

031203 十字盤組(for X3) Swashplate Set(for X3)

031207 主旋翼橫軸x2個(for X3) Main Rotor Head Spindle x2pcs(for X3)

031204 X3 CNC剪型臂(電鍍黑) X3 CNC Washout Arm Assembly (Black anodized)

031205 X3 CNC剪型臂推桿組(電鍍黑) X3 CNC Washout Arm pushrod linkage set

031401 X3 主旋翼夾頭(無配件) X3 Main Blade Grips (No accessories)

031403 X3 煞車盤 X3 Stop Plate

031402 X3 橫軸橡皮墊(硬度80)x4個 X3 Head Damper (Hardness 80) x4pcs

037124 碳纖艙罩組(A9型 黃)(for X3) Type A9 Canopy+Tail Boom in yellow(for X3)

【3Blade】Main Rotor Maintenance Parts

【Common parts】 Main Rotor Maintenance

【2Blade】Main Rotor Maintenance Parts

Canopy

【Common parts】 Frame Maintenance Parts



033206 伺服機座軸承蓋(for X3) Servo Mount Bearing Cap(for X3)

033216 X3 馬達座(B型) X3 Motor Mount (Type B)

034212 X3 CNC 碳纖腳架組(for 034601) X3 CNC CF Landing Gear(for 034601)

034601 X3 碳纖側板改裝(套件A) X3 Frame Conversion Set(Kit A)

034602 X3 改裝碳纖側板(右) CF Right Main Frame(for X3 Upgrade)(Right)

034603 X3 改裝碳纖側板(左) CF Left Main Frame(for X3 Upgrade)(Left)

034604 X3 改裝碳纖底板 CF Base Plate(for X3 Upgrade)

033202 X3 單向上齒盤輪穀 X3 Crown Gear Hub with One Way Sleeve

033203 X3主齒盤輪穀 X3 Main Gear Hub

033204 X3 下主軸座 X3 Main Shaft Third Bearing Mount

033205 主軸伺服機座 X3 Main Shaft Servo Mount

033404 X3 滑軌座 X3 Swashplate Guide

033405 X3 電池滑板組 X3 Battery Slider Plate

033406 X3 電池滑板x2個 X3 Battery plate x 2pcs

033407 X3 管夾組 X3 Boom Clamp Set

033408 X3 艙罩支柱組(A型) X3 Canopy Post (A type)

033410 X3 伺服機固定座 X3 Servo mount washer

033411 6角柱x5個 Hexagonal Post pack x5pcs

034402 71T前皮帶輪(for X3) 71T Gears (for Belt version) (for X3)



033403 131T主齒盤斜齒x2個(for X3) 131T Main Drive Gear x2pcs(for X3)

034203 X3 附軸承皮帶導輪 X3 Guide Wheels with Bearings Pack

031208 X3 主軸125mm x2個 X3 Main Shaft 125mm x2pcs

033003 X3 碳纖隔板 X3 CF Divider

033004 X3 碳纖艙罩固定片x4個 X3 CF canopy retainer set x4pcs

035215 一體式尾殼組(皮帶版)(for X3) Tail Case Assembly (with gears)(for Belt version)(for X3)

035421 拉桿座(for X3) Rudder Control Guide(for X3)

036207 X3 尾管(for皮帶版)(for 385L) X3 Tail Boom (for Belt version)(for 385L) x2pcs

036209 尾拉桿組(皮帶版用)(for X3L) Tail push rod (for Belt version)(for X3L)

036402 皮帶 544MXL(for X3)(for 385L) Belt 544MXL(for X3)(for 385L)

036610 皮帶版改裝套件(for X3L) Belt conversion Pack(for X3L)

035401 雙推尾舵柄組(for X3) X3 Tail Blade Grips (No accessories)

035204 尾旋翼(62mm)(for X3) X3 Tail Rotor Control Arm Assembly

035403 尾軸附皮帶輪組x2個(for X3) X3 Tail Rotor Blade Set(62mm)

036205 碳纖尾翼 (for X3L) X3 Tail Output Shaft with Pulley x2pcs

035003 碳纖尾翼 (for X3L) CF Fin (for X3L)

036606 3槳雙推螃蟹夾座(for X3) 3 Blades Tail Pitch Slider Set(for X3)

036607 3槳尾旋翼總成(for X3L) CNC 3 Blades Tail Rotor Head Ass'y(for X3L)

【Common parts】Tail Rotor Maintenance

【3Blade】 Tail Rotor Maintenance Parts



036608 3槳尾旋翼改裝套件(for X3L) CNC 3 Blades Tail Rotor Head Upgrade Kit(for X3L)

036609 3槳尾橫軸組(for X3L) 3 Blades Tail Hub(for X3L)

037206 X3L 尾三槳配件包 X3L 3 Blades Tail Pack

035201 雙推螃蟹夾座(for X3) Tail Pitch Slider Set(for X3)

035202 尾旋翼夾頭組(for X3) Tail Rotor Grip Assembly(for X3)

035208 尾橫軸x2個(for X3) Tail Hub x2pcs(for X3)

0F1050
好盈電子變速器鉑金版 50A V3 w7A

BEC
Hobbywing Platinum 50A V3 Brushless ESC w7A BEC

0S2311 GS-311 數位金屬齒伺服機 GS-311 Metal Gear Digital Servo

0S2518 GS-518 無核心金屬齒中型伺服機 GS-518 Coreless metal gear Mini Servo

034213 13T 陶瓷馬達齒(孔徑5.0mm) Ceramic Coated Pinion Gear pack(13T-for 5.0mm shaft)

034214 13T 陶瓷馬達齒(孔徑3.5mm) Ceramic Coated Pinion Gear pack(13T-for 3.5mm shaft)

034215 12T 陶瓷馬達齒(孔徑5.0mm) Ceramic Coated Pinion Gear pack(12T-for 5.0mm shaft)

034216 12T 陶瓷馬達齒(孔徑3.5mm) Ceramic Coated Pinion Gear pack(12T-for 3.5mm shaft)

0R7213
半牙內六角螺絲包-黑色(M2.5x12)x10

個

Semi-threaded Socket Head Cap Screw - Black

(M2.5x12)x10pcs

037203
主旋翼夾頭墊片(W5x9x0.2

W5.1x7x0.12)(for X3)
Main blade grip washers (W5x9x0.2 W5.1x7x0.12)(for X3)

034204 CNC 後隔板(for X3)

Main Gear

Washers(W10.2x13.5x0.1W6.2x7.6x0.1&W6.2x7.6x0.5)

(for X3)

037201

華司包(W5.1x7x0.7)(W5.1x9x1.1)(W-

3.1x4.6x0.6)(W2.6x8x1)

(for X3)

Washer Pack (W5.1x7x0.7)(W5.1x9x1.1)(W-3.1x4.6x0.6)

(W2.6x8x1)(for X3)

Other Category

【2Blade】 Tail Rotor Maintenance Parts

Electronics Set



037205 十字盤球頭(for X3) Swash Plate Ball Head screw set(for X3)

037202
襯套包(W-2x3.5x0.5&P2x2.95x3.1&P-

2x2.95x9.6&P2x4x2)(for X3)

Copper Sleeve & Washer Pack(W-2x3.5x0.5&P2x2.95x3.1&

P2x2.95x3.1&P2x2.95x9.6&P2x4x2)

037207 拉桿包 (for X3) Linkage Pack (for X3)

0Z1352 9mm C扣環x6個 9mm C-Clip x6pcs

0B2501 止推軸承包(5x10x4)x2個 Thrust B. Pack (5x10x4)x2pcs

0B2301 微型止推軸承包(T3x6x2.8)x2個 Micro Thurst B. Pack (T3x6x2.8)x2pcs

0B1202 軸承包(2x5x2.5)x3個 B. Pack (2x5x2.5)x3pcs

0B1404 軸承包(4x8x3)x4個 B. Pack (4x8x3)x4pcs

0B1506 軸承包(5x8x2.5)x4個 B. Pack (5x8x2.5)x4pcs

0B1504 軸承包(5x9x3)x4個 B. Pack (5x9x3)x4pcs

0B1204 軸承包(20x27x4) B. Pack (20x27x4)

0R7205
半圓頭內六角自攻牙螺絲包-黑色

(2x5)x20個
Socket Head Button Self Taping Screws - Black (2x5)x20pcs

0R7206 內六角螺絲包-黑色(M2.6x6)x10個 Socket Head Cap Screw - Black (M2.6x6)x10pcs

0R7208
自攻牙半圓頭內六角螺絲包-黑色

(2x8)x20個
Socket Head Button Self Taping Screws - Black (2x8)x20pcs

0R7214
自攻牙半圓頭內六角螺絲包-黑色

(2x14)x20個
Socket Head Button Self Taping Screws - Black (2x14)x20pcs

0R1208 內六角螺絲包-黑色(M2x8)x10個 Socket Head Cap Screw - Black (M2x8)x10pcs

0R1211 半牙內六角螺絲包-黑色(M2x10)x10 Semi-threaded Socket Head Cap Screw - Black (M2x10)x10

0R1319 半牙內六角螺絲包-黑色(M3x19)x10個
Semi-threaded Socket Head Cap Screw - Black

(M3x19)x10pcs

0A8621 4.8球頭(2x8.5mm)x6個 4.8Ball with Stand(2x8.5mm)x6pcs



0B1601 軸承包(6x13x5)x4個 B. Pack (6x13x5)x4pcs

0A8501 拉桿頭(4.8mm)x10個 Ball Links Pack(4.8mm)x10pcs

0B1302 軸承包(3x6x2.5)x4個 B. Pack (3x6x2.5)x4pcs

0R8305 止滑螺帽(N3x5.5L)x20個 Nylon Lock Nut (N3x5.5L)x20pcs

0R5203 小頭機械牙螺絲(2x3.2)x20個 Tiny Head Machine Screw(2x3.2)x20pcs

0R4202
內六角止付螺絲包-(M2x2mm)x10個 附

H0.9板手

Socket Set Screw-(M2x2mm) x10pcs with H0.9 Hexagon

Wrench

0R2204
半圓頭內六角螺絲包-黑色(M2x4)x20

個
Socket Head Button Screw - Black (M2x4)x20pcs

0R4210 內六角止付螺絲(M2x10mm x10個) Socket Set Screw(M2x10mm x10pcs)

0R1205 內六角螺絲包-黑色(M2x5)x10個 Socket Head Cap Screw - Black (M2x5)x10pcs

0R1210 內六角螺絲包-黑色(M2x10)x10個 Socket Head Cap Screw - Black (M2x10)x10pcs

0R1214 內六角螺絲包-黑色(M2x14)x10個 Socket Head Cap Screw - Black (M2x14)x10pcs

0R2305
半圓頭內六角螺絲包-黑色(M3x5)x10

個
Socket Head Button Screw - Black (M3x5)x10pcs

0R8205 螺帽(N2x4)x20個 Nut (N2x4)x20pcs

0R8206 止滑螺帽 (N2.5x5L)x10個 Nylon Lock Nut (N2.5x5L)x10pcs

0Z1305 艙罩墊圈(3.2x8x6.5)x6個 Canopy Damper(3.2x8x6.5) x 6pcs

0R4303 內六角止付螺絲包-黑色(M3x3)x10個 Socket Set Screw - Black (M3x3)x10pcs

0Z1107 HM162缺氧膠(1ml) HM162 Anaerobic Glue (1ml)


	NEW

